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2

> summary (m) =R [Z A S

Gall: BB s=RBRHRrTETILE

Im(formula = s ~ r)

(Residuals:
Min 10 Median 3Q Max
\j2.6251 -0.9696 —0.1047 1.5643 1.7398

(Intercept) 4.13918 4.92647 0.84 0.433
\r 0.87837 0.06168 14.24 7.49e-06 *+x

¥

s =0.878r + 4.139 BRER

Estimate/Ttd. Error t value Pr(|t])

BE (T—2EOREROE)

fCoeff icients: BREROEK ZHRoBEY
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BRE | RICADL

= T
1 85 | 65 r <- ¢(85,96,64,90,76,80,73,70)
2 96 78
3 64 80 —
2 | 90 | s 2| RICAHL
5| 76 | % e <- ¢(65,78,80,85,91,77,85,73)
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. m <-Im(e~r) %
plot(r,e) Q plot(r,e) &
o abline(m) N
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N N s | —0.088r +86.26
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2%
> summary (m) =R [Z A J]
Cal I . BERs% HEERrCETILE
Im(formula =e ™ r)
T : BRE (T—2&EODREROE)
Residuals:
Min 10 Median 3Q Max
C13' 7417 -3.4047 -0.1837 5.5732 11.4627
/Coeff icients: BiREROEK fERofEt:
Estimate Std. Error t value Pr(>|t])
(Intercept) 86.2558 24.4209 3.532 0.0123 %
\r -0. 0884 0.3057 -0.289 0.7822
¥

e = —0.088r + 86.26 BRES
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X <- rnorm(256,0,1)
y <- rnorm(256,0,1)

fadx, HtEwo W <- y-4*x
HMMEZED< plot(x,w)

HEEx CHitEdw 2
BiIfQIFITD
aEEREN< m <- Im(w~x)
BRA, A2 abline(m,col="red",lwd=2)
summary(m) EFHEI0)
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y=¢(1,0,2)
plot(x,y,xlim=c(-1,3),ylim=c(-1,3),panel.first=grid(NULL,NULL),col="red")
m <- Im(y~x)
abline(m,col="blue",lwd=2)
BRENEAR wonon 20




RIN_F|E 0 BAS

y y
{ /
L~
1 1 1
N L1
_ﬁ,/ A4 A4
L0 1 2 X 0 1 0 1 2 X
ﬁ O ﬁ 2y ﬂ i v
RE2 ORRE? BRE? EREY BAE? O RE fRE2
(+1)2  (-0.5)2 (+1)2 (+0.5)2  (-1.0)? (+0.5)2 (-1.5)2
I\ J AN J J
Y Y Y

REZORM =225 REZ2ORM=15 REZOHM=225

------

RNGWPTEY wohash] -

=RIN_FE o B

)
’ 1 <j EREREZ Y =a+bx &#<
8%
N
0 1 2 X

ME (BHBEWER) 02 FEDOM

3
(xlr yl) = (0,1) 2
(2, ¥2) = (10) [ Z(yi — (a + bxy))
(X3, y3) = (212) i=1 @

F—5 7’_‘)*%/]\(\:_7;%)4:5‘:0(\: b jdbf\;jil&b%

(EEDFHA)

nnnnnn

RREMAIRT iwahashi -

2022/9/3



22| % o TR

W LT

aa aaz(““’ %=y 0&H<

a
2(a+b-x; —y)t ‘%(a‘l‘b'xi_yi)

"2

= zn:z(a +b-x; —y)? —(a)
i=1
2

=0 e '}

Z(a+bxl YOL-1=0

i=1

I= ) {(a+bx;) -y}
2

B RliilESE2'

nnnnnn

%ﬂ.ﬁﬁ‘ﬁftﬁf Iwahashi

23

22| FERSE b CRMS LT

ﬂ_in o b TR LT
ab_ab;(“b %= i)’ « 0&H<
L 0
;2(a+b'xi_yi)l'%(a-l_b'xi_yi)
=22(a+b x; —y)t —(b'xi)
i=1

20@+b-x;—y)t - x;

I'= ) {(a+bx;) -y}
2

AHBI 2K

nnnnnn

BRGNS iwohashi

24

2022/9/3



X =yt -
n
L

@B BEARD
T attEEb
wIRS B

------

3§ Bimpery oon

22l R R E R < (2/4)
] = Zl in i Zyi
b Zﬂ ;ﬁ _;xy

nnnnnn

EHEwnERE o

2022/9/3



i i iti
i i=1 i
1 1 2 n n n
_Zn_l 2 _ (_Zn—1xi) 12 12 1 Z
n - n = — P (S — .
n YViXi n X =y Vi
=1 =1 i=1
n n
L) (1
n | y—=x yix
1 _ n
EZ‘L(LI xiz — xz 1 __
n ViXi — Xy
i=1
v 1%
EONCREoul AR EDYCEENES)
1 nés n«
- i=1 i=1
1 _ n
=X (g —%)? 1
no > G- Di=7)
i=1
%ﬁ%ﬁ‘ﬁftﬁi Iwahashi 27

Pl ARt E R (3/4)

AT - DOi- "

. Iy -0
[b] i _ _
ﬁzizl(xi -0 -y

1 _
7 Zi=1 (i — %)?

H’EXY, BL.

iy 1

a ys— bx - s2 —Eziﬂ(xi—x)z
== | B P T
: b ks -7 [ECOEEDWINCORE RS

nnnnnn

RREMAIRT iwahashi c

2022/9/3



RTHBOBZT—E2HLITVRQ

RZfE->T

AR

- BEREHATERT ~E[a])F
o B[]S DEHE ~&/N_FEL
o H[o])F ~ R CTE[O)F
« Z I (2T ~Yule-Walker
s BWEAHRT—XIZIHH ~ KRB

Excel 7 — X % R CHLIE

nnnnnn

29

AR ERDOEE;

n 3 \ /I;
’”%Z y 80 x; DT
i=1
1¢n el y, DT
y= Ez Vi
2\ 4
52 =%Z (x; — ) 18 X DDEL
i=1
_1ym o KEED x SR
Sy =3 =D kg
L
N - b Sxy
DRER . by 4+ ta= <z
y=bx+a % x
0F La=y-bx

nnnnnn

BRGNS iwahoshi

30

2022/9/3



iR e el 1

= it
N _ i x(i) y(i)
E?EUDT—&(«_D(/\—C 1 0 2
OFBEREFAEZROK ? 1 1
3 2 3
\ 4 3 B ?
7=72L. ARER% THE
1 n
Yy=bx+a f=;2i_lxi
LEB e, =D,
s 3
b _ Sxy |
2
S 2 I\ )2
= }_]x_ bx :j éj\:%&t Sx —;Ziz (x; — %)
— /\ n
/\73%& Sxy=%ZL: xi =)y —¥)

BREEE 1 ®w®1/3)

=t ke
X = _Z i = =1
Niddi=1 3 i 1 0 2
S el 2+1+3 2 1 1
y= Eziqyi - 3 =2 3 2 3
4 3
ﬂ
1 n _1)2 _1)2 _1\2
s2 = _Z (x; — %)? _0-1?+0a-1*+2-1) 2
Nédi=1 3 3
A _ - 0-DE-D+1-DU-D+2-DE-2) 1
Sxy Z_Z, xi—00:i—-y) = _1
n i=1 3 3
ﬂ
poS 3 e
s2 2/3

[ERERRIE ?

I
i

_ _ 1
a=y—bx =2—§-1 =15

BRCENT ”

2022/9/3



BB 1 ®exe/3)

S D fitsn
b= xy = 0.5 : () 0
Sx il 0 2
a=y—bx =1. 2 1 !
y > 3 2 3
EEY., ElRERIL 4 3 | FilliF3
y=bx+a .
=05x+1.5 3 o eFHE
. E 2@ e
ZDEE, x=3Lnld S y=0.5x+1.5
! i R?=0.25
y=05-3+15 s 1 : : :
=3 « Fifb —-
%ﬁ%ﬁ‘ﬁftﬁz Iwahashi 33
3
PR (®H3/3)
L=< fitse
__ 1IN 2+1+3 i x(()i) y;i)
y n l=1yl 3 :j . ; ;
L 3 2 3
: :
52 _lzn (,_—)2 2(2_2)2"'(1—2)24‘(3—2)2:3 _
ST 3 3. rmeTuk
<
Sxy _ 1/3

rzsxsy —mm=0.5 « THRMRER

_Sxy _1/3
s§ 2/3

nnnnnn

Eﬁ.ﬁﬁ‘ﬁfgﬁﬁ Iwahashi

REGK-> r? =0.25

=05 - DREROES

34

2022/9/3



i & R (S AHBI AV LSS (S

FERR =

[EFERR I,
a=y—bx
y=a+ bx bzsx_y
Sz

Ly, OMEERKIE L

r= 2y [> b= S—yr
SxSy Sy

X Ey HIEIERE (r=0) D& &

b= D 9=3

nnnnnn

8o T

“n

RTCHIEEL & 5

y; & x ICHEEDME WS A

ERES = y, D7

35
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set.seed(0)

X <- rnorm(1024,0,1)

EFL &9

cor(x,y) TBRIREN
E{Egedn

-0.00185

y <- rnorm(1024,0,1) ﬁ -
plot(x,y) / _
m <- Im(y~x) %
abline(m,col="red",lwd=2)
QIRER
(St v,
summary(m) d)mi’:j% i
RICAD RoED
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r=— ﬁ> p=22r Sy nzizl(yl y)
SxSy Sy
X DB E y, DR LA s (F
s =5 E> b= y, DDEE x, DDEINFE UHE L
o =T A BEROMEZ = HHEREK
EERENEAE wonsh 3
B AN =
R CHEEL £ D
YT RICAD set.seed(0) var(x)
BEYF  ROED 1.001069
X <- rnorm(1024,0,1) var(wl)
y <- rnorm(1024,0,1) 2.066758
wil <- x+y var(w2)
w2 <- wl/sd(w1)*sd(x) 1.001069
XDDEEW DDEIIRRD XDDEEW,DDENEIF O
cor(wi,x) FERIREY cor(w2,x) FERIREY
0.6946333 1 0.6946333 1
YA [E1V,
m <- Im(w1~x) | m <- Im(w2~x) }
coef(m) B= coef(m) lE=
(Intercept) X (Intercept) X
-0.01448707 0.99808708 -0.01008249 0.69463335
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set.seed(0) a0 SRIEENNE
X <- rnorm(1024,0,1)
y <- rnorm(1024,0,1) Residual standard error: 1. 035 on 1022 degrees of freedom

Multiple R-squared: 0.9374,
F-statistic: 1.529e+04 'on 1 and 1022 DF

shesz AN 4 [~
w1 <- x*4+y / REREN (SE)

w2 <- x*4+y/100

<= Im(w2” — .
ey SREENEFO
wy=4x+y
Wy = 4x + y/]_OO Residual standard error: 0.01035 on 1022 degrees of freedom

Multiple R-squared: 1, o°
F-statislic: 1.531e+08 on 1 and 1022 DF | aétla*?i@
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R CHRAEEL & 9D

set.seed(0)

X <- rnorm(1024,0,1)
y <- rnorm(1024,0,1)
wl <- x*4+y
plot(x,w1)

" it w,
foningd

WOX®RA
M .ﬁ, ,,i“,i L “ZS% Iwahashi

m <- Im(w1™x)
summary (m)

Call:
Im(formula = wl ™ x)

Residuals:
Min 1@ Median 30 Max
-3.02811 -0.70166 -0.00197 0.74541 3.05423

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) —0.01449 0.03235 -0.448 0. 654
X 3. 99809 0.03233 123.656 <2e-16 sk

Residual standard error: 1.035 on 1022 degrees of freedom

Multiple R-squared: O0.9374,  Adjusted R-squared: 0.9373
F-statistic: 1.529e+04 on 1 and 1022 DF, p-value: < 2. 2e-16

cor (x,w1) "2
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1 RD2IE

x <- ¢(85,96,64,90,76,80,73,70)
y <- ¢(78,90,62,82,70,70,65,63)
plot(x,y,xlim=c(60,101),ylim=c(60,101))

f <-y~b*x+a
obj <-nls(f,start=c(b=0,a=0))

60 70 80 90 100

¢ <- coefficients(obj) b, a
Xx <- seq(60,100,by=1)

vy <- ¢[1]*xx +c[2]

par(new=T)
plot(xx,yy,col="red",type="1",xlim=c(60,101),ylim

b a
0.9129 0. 1564
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60 70 80 90 100

y " b % x +a

b=0. 9129

=¢(60,101)) a=0. 1564
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1 RDZIER, (fiHEANER)

8

=l x=by+a
y <~ ¢(85,96,64,90,76,80,73,70)
x <~ ¢(78,90,62,82,70,70,65,63) S
plot(x,y,xlim=c(60,101),ylim=c(60,101))

o - o
f < y~b*x+a . o
obj <-nls(f,start=c(b=0,a=0)) ~

o | o
¢ <- coefficients(obj) b, a = 5 | T I T
XX <- seq(60,100,by=1) 60 70 80 90 100
vy <- c[1]*xx +c[2]

y " bh%xx+a
par(new=T) b=1.045977
plot(xx,yy,col="red",type="1",xlim=c(60,101),ylim=c(60,101)) a=3. 416667

b a
1.045977  3.416667
BREANEAE oo s

2 X DZIE (]

y=cx?+bx+a

x <- ¢(85,96,64,90,76,80,73,70)
y <- ¢(78,90,62,82,70,70,65,63)
plot(x,y,xlim=c(60,101),ylim=c(60,101))

f <-y~c*x"2 +b*x +a
obj <~ nls(f,start=c(c=0,b=0,a=0))

60 70 80 90 100

¢ <- coefficients(obj) ¢, b a I I T I I

XX <- seq(60,100,by=1) 60 70 80 90 100
vy <- c[1]*xxA2+c[2]*xx+c[3]

par(new=T)
plot(xx,yy,col="red",type="1",xlim=c(60,101),ylim=c(60,101))

c b a
0.01666556 -1.76031421 105.67443819
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100

x <- ¢(85,96,64,90,76,80,73,70)
y <- ¢(78,90,62,82,70,70,65,63)
plot(x,y,xlim=c(60,101),ylim=c(60,101))
+c¥xN2 +1

f <-y~d3 b*x +a

obj <-'nls(f,start=c(d=0,c=0,b=0,a=0))

60 70 B0 90

¢ <- coefficients(obj)
XX <- seq(60,100,by=1)
vy <- c[1]*xx"3+c[2]*xx"2+4

dcb,a
c[3]*xx+cl4]

par(new=T)

—

[2])%

Ty=dx®+cx?+bx+a

60 70 80 90 100

plot(xx,yy,col="red",type="1",xlim=c(60,101),ylim=c(60,101))

d c b

-4.777351e-04 1.310101e-01 -1. 079047e+01
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